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1. Answer all questions.
- 2. All guestions carry equal marks.
[ 3. Only one answer is 1o be given for each question. .
A 4. I more than onc answers arc marked, it would be treated as wrong answer.
- 5. Euch question has four allernative respenses marked serially.as 1, 2, 3, 4. You have to darken only one circle

or bubble indicating the correct answer on the Answer Sheet using BLUE BALIL POINT PIN.

6. 1/ part of the mark(s) of cach guestion will he deducted for each wrong answer. (A wrony answer
means An incorrect answer or more than one answers for any question. Leaving all the relevani cireles or
bubbles of any question blank will not be considered as wrong RNSWET.)

7. The candidate should ensure that Series Code of the Question Paper Booklel and Answer Sheet must be same
alter opening the envelopes: In case they are different. a candiclate must obtain another question paper of
the smne sories, Candidate himself shall be responsible for ensuring this.

8. Mobile Phone or any other clectronic padget in the examination hall is strictly prohibited. 4 candidate found
with any of such objectionable materinl with him/er will be strictly dealt as per rules.

. 9. Please cirrectly fill your Roll Number in OM.R. Sheet. 5 marks will be deducted for filling wrong or meompletle

o Roll Number.

A 10. If there is any sort of ambiguityimistake either of printing or factual nature then out of Hindi and
VA 1 ¥ . guity L P L5
SR English Version of the question, the English Version will be treated as standard.

w F Weoanring : If n candidate is found copyving or if any unauthorised material is found in his/her possession,
ot F.1.R. would be lodged against him/her in the Police Station and hefshe would liable Lo Lie prosecuted
N under Section 3 of the TLE.1S. (Prevention of Unlairmeans) Act. 1992, Commission may alse delar

4 himer permanently lromn all future examinations of the Commission.
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Which statement is correct for "Limited Tender" from following ?

(1) Are those addressed to all parties in approved fist of vendors.

(2) Are those addressed to ail parties whether approved / unapproved.

(3) Are those addressed to only Govt. approved parties.

(4) Are those addressed to ouly private limited parties.
@rﬁa%ﬁm(ﬁa),ﬁmﬁwq’fﬁﬁﬁﬂmaﬁww ¢

(1) ﬁﬁﬂ%ﬁ@fﬁﬁﬁmm%ﬁ%ﬁwm@ﬁsﬁa% |
(2)usaﬂmﬁaﬁa‘fz€rﬁm'm%,m%zﬁmmfawwﬁ|
(S)uzmmr&w_waﬁaﬁﬁww%l

(@) T Faw PoR wE ST A F ST S E

As per Factory Act 1948, any adult workm'an is not supposed to work and not

allowed to work for maximum “ » hours in a single day.

7 @ 8 |

(3) 9 @) 12 N

EEr aifafrad (Factory Act) 1948 ¥ e ﬁw@f%ﬁawgrﬁﬂs F el T
IEui ”ﬁ%%aﬁ%mﬂﬁmwefﬁﬁﬁ?aﬂﬁﬁmmr
m 7 “@ 8 | S
3) 9 o @ 12

If a person is having an epileptic attack, what will be the primary nursing care ?
(1y Start oxygen therapy.

(2) Put padded spoon in the mouth,

(3) Call the doctor immediately.

(4) Hold the patient's legs firmly.

aﬁwmﬁaﬁ%ﬁméfﬂaﬂw%,aﬁmﬁmaﬁhmw@m?
(1) offedior SR A HTT

@) Fe A wuE @@ g FHA FOE

(3) Sl @ LG FEHAT |

@) Wl @ 2 B A " s
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How long does it take normally for brains cells to begin to die once there is

no oxygen ?
(1) 1 to 2 minutes ' (2) 3 to 4 minutes -
(3) 7 to 8 minutes (4) 9 to 10 minutes

Sfedio @ erguRafy ¥ IRl ARGSs @l DRl @ bt g9 A I
B W AT B W g7

M 132 /e - 2) 39 4 fFe
(3) 79 8 Bme @ 9% 10 e

What is first aid ?

(1) Completing a primary survey.

(2) Assessing a victim's vital signs.

(3) The first help given to victim of an _accident.

(4) Treating a victim for a shock.

wrafes faftee 1 & 7
(1) waftes St oA QO B

(2 dfss & sifue Rt &1 g wom |

() ghew & dia @ & T wuw geEa |
(4) Oz &1 e & WY ST, |

First Aid for a nose bleed is :

(1} Tilt the head back and apply pressure on the nostrils.

(2) Use direct pressure on the bleeding point and give hot drink. -
(3) Lay the victim on his back and treat for shock.

(4) Have the victim's head forward and apply pfessure on the nostrils.
THHR & WIS ITER T

(1) T @& @ & ok g 7 9y & meg § 99 |
(2)maﬁﬁﬁgwmmmaﬂﬁﬁﬁ%|

(3) dfsa & T % o0 Tl a9 amug &1 SwER &8 .
(4)%%%aﬁmaﬁm§$ﬁaﬁﬁwwaﬁl
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What is the full form of MSDS ?

(1) Material Specifications Dimension Specifications
{2) Material Safety Data Sheet

(3) Mine Séfety Dam Safety

(4) Motor Safety Driving Safety

MSDS @1 qof eifiymr & ¥ 7

(1) i Adqiftesyry ST WEiEs T

(2) WRiww 9w 3T i

(3) uEH ¥ IW YT |

(4) X TR gEiT 4w

What is the method of neutralizing ammonia (NF5) to save nearby workers in
case of leakage ?

(1) Let ammonia (NH;) be dispersed in air.

(2) Water safety

(3} Use dilute hydrochloric acid (HCI) spray

4y Use CO,

SRR & | BN UT I WE F BB B a9 b Y ST by e
BT B T TAR & P

(1) . et @& gar ® BT |

(2) U fsewr |

G) TR e B A @ fewT |

(4) &ET IEATEES S

What should be the minimum number of employed workers in a premises,
carrying out manufacturing with the aid of power to define the premises as a
“Factory” under the Factories Act 1948 7

(y 9 2) 10
(3) 19 4) 20

sTirr &% wEEaT @ w9 § &9 fhae eder FEfET 89 U it @ SRE
afyfram 1948 & aea ofnfyg fem ¥ - '

(1) 9 (2) 10
3) 19 4) 20
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“Worker” is defined as -

(i) Employed directly

(i) Employed by or through any agency (including a contractor)
(iii) Employed with the knowledge of the principal employer
(tv) Employed without the knowledge of the principal employer
(v) Employed for remuneration

(vi) Employed without remuneration

Which of the above are covered as “Woker” under the Factories Act 1948 7

() (), (i) and (V) (2) (), (D), (i) and (V)
(3) (i), (i), (i), (iv) and (v) {4) All of the above
ECard i e

() e frghe

(i) @ @ Rl ke (s ol 3%ar W 3) & =0 Fgw
(iiiy Fex P & e # e

(iv) Te e & aeerd & fa Frge

(v) ufsfys & fod Frgm

(vi) T oftsfes & fig frge

ST # Y atER @ aREm ¥ e em ¥ 7

(1) @), (i) 3T (v) 2) @), (D), (i) T W)

3) Q). () (). (v) T () @ vTam wd

Two forces are acting at an angle 120°, bigger force is of 800 N. Resultant
acts at right angle to the smaller force. Determine the smaller force.

(1) 300 N (2) 600 N

(3) 400 N (4) 200 N

a1 aw 1200 % Hor oY et ¥ | o @ wer I@ 800 N w1 T !
TR BR T ¥ Wrng & | Bl @ s By |

(1) 300 N (2) 600 N

(3) 400 N (4) 200 N
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A jet engine works on the principle of - *
(N Conéervation of mass

(2) Conservation of energy

(3) Congervation of linear momentum
(4) Con.sle\rvaiton of angular momentur
e o9 fre foery W wd wXar § -
(1) THE 9o

(2) St

() dm =T e

(4) O "o HXE

An engine generates a power of 10 kW. Calculate the time taken by it to lift
a 200 kg mass upto a height of 40 mtrs. (g = 10 m/sec?)

(1) 4 seconds (2) 8 seconds
(3) 10 seconds (4) 16 seconds

w9 10 Freae sRR SO @Yt ¥ 1 40 HeX @ San 9w 200 Remm

MM @& IoM W g8 fhat wHE w1 (g = 10§1/92)

(1) 4 ¥=vs (2) 8 UHUS
(3) 10 ¥Eve (@) 16 Y@

If velocity, momentum and kinetic energy of a particle are represented by
v, p and k respectlvely then, which relation is correct ?

_dk o ol

m o=y @ r=7
(@)

& =g @ 7=\

afx v, p o k w0 wW & 9T, g9 ok e wwl ¥ oar P H @
- =Y Gl & 7

-t _dk
(1) r "y _ (2) p_dt

-4 ' (&)%)
®) p_dt ' @ p= dv J\ dt
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Correct form of Ohm's law is -
(1) I=VR Q) NeeeI -

(3) V=IR | (4)  Above (2)and 3)
N e T "

(1) I=VR (2) VoI

G) V=IR (4) wOUE (2) W (3)

et
N

The capacity of a lead acid battery does not depend upon

(1) Charge rate | (2) Discharge rate

G) Tempefature (4) Density of electrolyte
don wame ¥ @ sma e o el G e -

(1 GTI‘QTSTET - ‘ @) SR w (e 5

(3) dmEEE . (4) Igad gT@

In any a.c. circuit always :

(H Actual. power is more than reactive powér.
(2) Reactive power is more than apparent power.
(3) Reactive power i1s more than actual power

(4) Apparant power is more than actual power.

fpdl yemadt gro ufwoy #§ wdg

() arafas i siyada o @ afie et &1
(2) wiredm ofF onwmd sifm @ orftrs &t &
(3) wiveny sfe awafes sfm 4 s@fves g@ 2 0
(4) onwr e Trafus offm @ afts o< ¥
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Form factor of an A.C., is the ratio of

(1)
2)
3)
@

(1)

@)

*

RMS value to ave?éigc value
Average value to RMS value
RMS value to peak value

Peak value to average value

TETEd Ukl w9 OlE e 8 -

aﬂ’quﬁnﬂaﬁ'{eﬁwnﬁwe@m
sfga A oy oo | A Wl S
e @ wW ek R WM w1 srgud

Argy o9 iR of|d 9AH @ Sru

Overcharging of a lead acid battery would cause

M
(2)

(4)

excessive gassing
loss of active material
increase in termperature resulting in buckling of plates

All of the above

oy ol e wamE 3D ¥ www B e -

M

aifrntes A
wHE WAl & A
Ao gfe & IO wiel W gE

IqUE g
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Three resistances each of 'R'Q are connected to form a triangle. The resistance

between any two terminals will be

3
1) RQ | B @ 9

2
(3) 3RQ G ER Q

& wRriue R @ @ W R'Q E a P % emer ¥ wier w3,
& Bryw % fedl @ T & dra @ wRRe M -

3
() RQ @ 9

3) 3RQ (4) %RQ

Kirchoff's laws are applicable to
(1) A.C. circuits only

(2} D.C. circuits only

(3) A.C. as well as D.C. circuits

(4) Passive networks only

fovats & Fraw arp o9 & -

(1) weared! g afe #

2) = g oims ¥

() wEd qar fe ura @ oRwet ¥

(4) waw TRea qRwei ¥
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~Which of the following lamps has more resistance
(1) 25 W, 250 lamp () 40 W. 250 F lamp
(3} 60 W, 250 Folamp (4) 100 W, 250 7 lamp

%{Hﬁﬁﬁ?%%ﬂmuﬁ'ﬁamm

(1) 25 W, 250 ¥ @9 : (2) 40 W, 250 ¥ &9
(3) 60 W, 250 I” ¥d (4) 100 W, 250 1 &4

One microfarad is equivalent 10

(1) 10 x 1072 farad 2) 1 x 107 farad

(3) 1 x 10712 farad (4) 1 x 107 farad

o WEEIBTS W T

(1) 10 x 107 &8 @) 1 x 10° %S

Gy 1 x 10712 Te (4) 1V x 107 W

The current ratings of switches used for lighting and power circuits are
(1) S Amps and 10 Amps (2) 5 Amps and 15 Amps
(3) 10 Amps and 15 Amps (4y 10 Amps and 30 Amps

W&Ta?r(sﬁmqﬁq@ﬁﬁwaﬁaﬁﬁﬂamwﬁwwﬁh%@%%«
(1) 5 10 gRway () 53 15 T

G) 109 15 TR 4y 10 3 30 ufgay
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"Guy’ wires are used for following reasons -

(1) To support poles

(2} To protect surges

{3) To provide carthing

(4} To sate operator trom short circuil

AT WA W Sean Mm ownen % fao T owEr %
(1) @ &7 2 o

() Wred ¥ Wl Eem o wE

() et F THw Wl wEm e

(4) EE w M Eike 'Y g gam

Which dimensions of frequency Is correct from [ollowing ?

N R
e )

. Lol
{3) 2z BT

g @ faa s f % @ O wd v o7

. LR
() RC ) /

) L \ |
(3) C S fo}}":

The combination of colour codes used tor phase, neutral and earth wires in house
wiring are respectively as -

{1y Red, Black, Green (2)  Red, Black, Yellow
(3) Black. Red, Green {4)  Red, Yeliow, Biue
w H fagm o = P e N mmen P ogme O ume fear e :

() <™, &I 8 (2) W, i, G
(3) hIell, T, Tl (4y ©E, 15{)}.5:[.{, Tﬂﬁﬂ
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Normally grounded wire is made of following

{1y Stainlgss steel (2)  Aluminium
{(3) Galvanised steel (4) Casted iron
e T orad wT PR e ek ¥ - |
(i) Rady e (2) tghfem
(3)  FRER ' (4) wwai a‘m

Which class of insulating material can withstand maximum temperature ?
{1y A class (2) C class
{3y B class (4) Y class

RG] qeyel @1 @r-gn sfirman qI9 Wed WY et § 7

4y A ) C =t
(3 EAf @ Y&t

Which of the following capacitors are polarity sensitive while ‘connecting in

clectric circuit.
{1y Paper capacitor (2) Mica capacitor
(3) Ceramic capacitor (4) Electrolytic capacitor

Pyt vt § ¥ @Ry dufe ¥ fga vk ® ‘135 g'd?n o T

T WAl OB
(1) @ dahe (2) .m et
Gy Trte gt (4) 3?{':@3[%{&35. @;-mﬁ;r
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{t the dielectric is placed in an electric field, the field strength will -
1y Decrease ' (2) Increase |

{7} Remain the same (4) Become zero

gy o ¥ orEes @ TEH WX AW @ SEdr Wl erY g o7
(1) = @) T

(3)  GEE W | - (4) 9 & s

Two heaters, rated 1000 W, 250 }* each are connected in series across 250 V,

Sy f/z AC mains, The total power drawn would be w.
(') 1000 | (2) 500
(%) 250 (4) 2000

41 HE dF Rl e 1000 W, 250 1, a‘rsﬁvﬂamz‘fa%gq%:zso;/ 50 Hz

wndl owem d | gw ok sasim _ woErd
(i 1000 : ) 500
(3) 230 (4) 2000

A 100 Watts bulb glows on an average of 10 hours per day for one week.

The weekly consumption of energy will be units,
(7 () 70

{33 0.7 4 0.07

ue Ted 100 w1 UG 10 6 @l § Ud TWE & WY, | OF 99 § el
CHNRC gl gt o - '

7 | 2) 70

—

(
(i) 0.7 | ) 0.07
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34 On ampere hour basis, the efficiency of a lead acid battery is in the range of-

(1y 90 10 95% (2) 80 to 85%

(3) 70 to 75% | (4) 60 to 65%

dor AR @ ufre &) @ uhwdd wEd @ W A ¥ -
(1} 90 & 95 wiaed (2) 80 & 85 wWhige

) 70 & 75 wlasw (4) 60 F 65 Wi

35 Which type of insulators are used oh 132 kY transmission line ?

(1) Pin type (2) Disc type

(3} Shackle type (4) Pin and Shackle type

132 k1 gETEr wEd N @ § wen @ Remadr (Fregeey) sudm ¥ @R
I |

(1) T sy (2) fewm 2mu

3y ofem  ZEY 4) T ud i 2=

36 Constantan is an alloy of

(1) Copper and Nickel (2) Coper and Tungsten
(3) Tungsten and Siiver (4) Silver and Tin
s P A 4 Tead Piw ug 7

(1) dra it Frda @) dien o T

(3) A oiiT Rl (4) @ e T

37  *Ohm’ is not the unit of -

(1) impedance (2) capacitive reactance
(3) inductance (4) resistance

frg § @ Peg Ul & Ame oW T ¥ -

(1) wiqaren () e gfE

(3) WA 4y g
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38 Electrical resistance of a semiconductor
(1) increases with the increase in temperature
(2) decreases with the increase in temperature
(3) decreases with the incréase in temperature upto 37°C, then increases
(4) remains constant
Rl i w1 g wRw -
(1) 9 987 W TE@Te?
(2) WY g T =T ¥
(3) AN WM WX 37°C @& weal § ReY wgar ¥

(4) 9T A W P wa ¥

39 Which of the following is not a conducting material ?
(1) Copper (2) Tungsten
(3) Germanium (4) Platinum
e % 9 BF-w gawe @ ¥ 7
(1) &Y : (2) TR

(3) wtuhraH (4) wArfey

40 The direction of induced emf can be obtained from -
(1) Left hand rule (2) Fleming's right hand rule

(3) - Faraday's laws (4) Cork Screw rule
oRa R aww a@ @ R few Prm oz P @ b -
() =i ey @ Frem (2) wHT ¥ <" Ty @ Frm

(3) W & FEm : (4) *% T Frm
Al - 15 [ Contd...
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The fuse material used in electrical lines must have which cone of the following

properties ?

(1) High resistivity (2) Low resistivity
(3) High melting point (4) Low melting point

Rrga wieed W owd B arel wgs g ¥ e A @ @@ T e
BRI U
(1y == glauasan (2) w9 uiauysd

(3) Ted TG (4G (4) @9 TeEe 9y

The temperature coeflicient of resistance -of an insulator is
(1) Positive and independent of temperature

(2) Negative and independent of temperature

(3) Negative and dependent of temperature

(4} Posilive and dependent of temperature

(1) whea ok au

() Tafesg e a9 ed

() Tafterg o @@ el

(4) whpg ofT av SfiHd

Which of the following acts as a depolarizer in a dry cell ?

(1) Carbon powder (2) Manganese-di-oxide
(3) Ammonium chloride (4) Zinc chloride
g 30 ¥ fre § 4 @r-w aydens ' w7
(1) T gon wEHA (2) AT SE-ATIES
(3) omiEn FES 4 T wags
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44 If 7 =20.230° then circuil resistance will be

1y 200 (2) 20300
G) 17320 @) 10230

e Z7=204£30° & & whwy ¥ oy @1 owm @
(1) 200 2) 20300

Gy 17320 (4) 10.23Q

45 Power factor improvement may be achieved by the use of
(1) Long transmission line (2) Induction motor

{3) D.C. compound motor (4) Synchronous motor
yikA Ui @ feEs g demn W wEar 7

(1) wE 9URY WEW % oy ¥ (2) WY HWer ¥

(3) A FUET AT T (4) fwmw A 9

46 Which of the following is a good conductor of heat and electricity ?

(1) Glass (2) Metals
(3) Ceramics (4) Polymers
= % & BF-w 9w 9 REe @ gawe § 7
() =i (2) urg

(3) Tatfra @) uRiET

47  Electric supply used for railway passenger coach lighting and fan service is

(1) 1-phase 25 Hz AC (2) 1-phase 50 Hz AC

(3) 3-phase 50 Hz AC 4) D.C.

WS A Y W Yy e §u uwl 3 e @ §wE w1 Swn e
ST OE?

(1) 1%F 25 &5 WA (2) 1% 50 g wl

(3) 3% 50 o1 wHlL (4) <4

Al 17 [ Contd...
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Which type of wiring gives more mechanical and fire protection ?

1
(3)

¥ anrfer afts Tt wd @i geean yem & ¥ 7

ey
(3)

(H)
)

R, L afx ¢ & g fedl ufmw & sy e =0l
L ¥ %aa
g R, La CH

(M
(3)

casing capping wiring

batten wiring

Yo T

R only

C only

R ¥ &awd

C ¥ &aw

In a circuit containing R, L and C power loss takes place in -

conduit wiring

cleat wiring

(2) wege IEfET
(4) e a|fen

All R, L and C

Which power is measured with the help of an induction wattmeter ?

(1)
(2)

The apparant power

The reactive power

The true power and the reactive power

Only the true power

s T feE wer @ sk @l A9l ST E 7

s ot
wfefwansie gy

e gifR @ wiklwagTen o

Fad e g

18
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‘The conversion of hexadecimal number (A72E),, into octal will be :
(1) (123456, (2) (12435 6)
(3) (1345 6) 4) (14652

TRIRURT W& (A72E),, W ONFW gedis

(1) 12345 6)g (2) (12435 6)g
(3) (13456) 4 (14652 )
Sum of binary numbers 11+ 1 is equal. to :
(M 11 () 110
(3) 100 4) 12
TEA 11+ 1 a0 ger ¥
(1) 111 (2) 110
(G) 100 4) 12
Next binary number after 0, 1, 10, 11 is :
1y 12 | ) 101
3) L0 (4)y 100
0, 1, 10, 11 & U STl ARAL T &
(1y 12 () 101
) 110 @) 100
The next hexadecimal number after 52 F is :
(1) 52 E @) 530
(3) 531 4y 536G
FFERUMA TG 52 F & UyAN oo SaRESE ARl 8
() 52 E 2) 530
(3) 531 4 533G
19 [ Contd...
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‘Decimal number (96)¢ 18 equivalent to octal number

(1) 960 (2) 60
(3) 36 (4) 140
IPwE T (96) B FEEw FED % -

(1) 960 (2) 60
(3) 36 (4) 140

The OR gate output will be 0 if the inputs are :

(1) 10 (2) 00
(3) I 4y 01
ORﬁzmmomaﬁw%-—

(1y 10 (2) 00
G3) 11 o @ ol

The output Q of following circuit 15 :

A
I

Q .
C
(1) (E+§)(:{7+CF') (2) AB+AC
3) (A+B)+(A+C) @ ABC

20
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A single fransistor can be used to build which of the following dighal
logic gates ?

(1Y AND gates {Z) OR gates
(G) NOT gates (4) NAND gates

ﬁﬂ'%ﬁaﬁéﬁ'mﬁiﬁﬁwmﬁam%ﬁ’%mﬂqmzﬁﬁwianHﬁvfﬁm
T OE

(1) ANb E:ARS (2) OR TR

(3) NOT 3w (4) NAND BT

The logic expression for a NOR gate is :

() x=4+8 (2) x=4+5h
(3) X=.A+B (4) Xx=A+B

Wh NOR B g die® =dwH -
) x=4+5 () X=4+5

(B) X=d4+8 4 x=4+8

Which of the following ekpressions is false ?
() A+d=1 @ Ad=1
(3) A A=4 _ 4y A+1=]

R QBN w wEw ey &P

A1) A.+Z_=1 (2) A4 A=

3) A4-A=4 4 A+1=1
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61 Which one of the following is not a type of microphone ?

(1)  Condenser (2) Ribbon
(3) Diaphragm (4y  Dynamic

ﬁﬂﬁ‘ﬁwwmm}cﬁ‘mwwmqﬁ%

() @A @) Taw

(3) =EmE (4) =EAHE
62 Crystal speakers are used i s

(1) Low frequency (2) High frequency

(3} Medium frequency (4) Low and high frequency

fpem @@ Wi o Wi W ¥

() wmw gl B WO (2) ofum gl & e

(35 wemw egR & A () @ uE afum el @ T
63 What i the externad diameter of o CO/DVD disc 7

{1y 120w {2y 13 mm

(33 150 mim (4y 110 mm

CLDVD R w1 arsl 3

(y 120l (v p2s B
(1) 130 AL (4) 130 P

64  The maximum number ol tracks ina CD is:
(1y 100 (_\ 9
(3} 10! (4) 98
s CD ¥ aifasan Z@f w1 gen
(ty 100 (2) 99
(33101 (4 98
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DVD drives and players use :

(I} 650 nm red laser diode (2) 405 nm blue laser diode
(3) Both (1) and (2) (4) None of the above
DVD 3Ed wal @ax ¥ wgwd gl & -

(1) 650 nm & WX SEE {(2) 405 nm Wl WO ST
(3) (1) 9ur (2) I 4) TEs ¥ 4 w2 a8

A standard 12 cm diameter single layer blue ray disc has a capacity of :
(1) 25GB (2) 50GB

(3) 100 GB ) 128GB

% AHE 12 cm TE B UHA 98 w1 @ @) ana B ¥

(1) 25GB (2) 50GB |

(3) 100GB 4y 128GB

Which one of the following is not a part of Home Theater system ?

(1) Video projector (2) AV receiver
(3) Blue ray disc player (4)  Thermocouple
fe=r & @ @ @ e Rider gomelt @ erame ad 3¢
(1) Fafsn diereex (2) AV fiex

() =X o way (4) ety

In comparison to LCD TV, the LED TV has :

(1) Less Power Consumption {2) Better Contrast Ratio
(3) Thinner Display Panel (4) Al above

LCD &1 &1 gemm § LED 9 & & &

(N - e @Ud (2) orm FERe SEuW
(3) uawn fewr A 4) T @
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Which of the following types of DVD has the major impact on the video market ?

() DVD-R (2) DVD - RAM

(3) DVD - ROM (4) DVD - RW
ﬁﬁﬁ'%ﬁwmﬁDVDm&i%ﬁrwﬁ'g@aum% ?
(1) DVD - R (2) DVD - RAM

(3) DVD - ROM (4) DVD - RW

The ﬁﬂl form of HDTV is :

(1) High Density Television (2) High Definition Television
(3) Heavy Duty Television (4) None of the above
HDTV &1 of & % -

(1) =AML Tefa @) e Shefer TaRfasT
(3) ¥ =& WIeNT (4) SolEd ¥ ¥ B TR

A well seasoned timber may contain moisture percent up to :

(1) 6% to 8% (2) 12% to 15%

(3) 10% to 12% 4) 15% to 20%
wa@a@m%qﬁgmmﬁﬁaﬁﬁaﬁﬁmﬁmuﬁm
@ F

(1) 6% ¥ 8% (2) 12% ¥ 15%

(3) 10% § 12% (4 15% & 20%

Purpose of seasoning of wood is :
(1) Reduce weight (2) Increase hardness

(3) Reduce moisture content (4) All of the above

B B SUNR AT ESIEU B SRIA BN ¥

(1) 99 "l (2) HIAE T HIUA T
() = B AE B BTN () SwEa @
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The commonly used drier for oil paint is :

(1) Olive oil (2) Linseed oil

(3) Kerosene (4) Accetate of lead

aETl S Y @ gEd ¥ R @ S w T R w7
(1) g & aF (2) owdl B oW

(3) FO (4) Ws T

Veeneers 1s :

(1) Thin layers of wood (2) Knot in wood

(3) Defects in wood (4) Seasoning of wood
(1) HST & Taen =1y (2) wHN H B

(3) whsl ¥ AW (4) WHS! W ITER

The most commonly used base for iron and steel work is :

(1) Red lead . (@) Zinc white

(3) White lead (4) Titanium white

W% Td O BF W ey o™ N o o S9 (Base) ¥ ¢
(1) W W= (2) Riw THe

(3) we @ | (4) =P e

Which of the following trees yields hard wood ?

(1} Deodar (2) Chir
(3) Shisham . ®) Walnut
s ¥ P e A 39K W ww @ oW ¥ 7
(1) =R (2)
(3) g™ (4) sElT
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77 Which tool i;s used for paring 7
(1) Saw | (2) Plane
(3) Claw-hammer ' (4) Pincer
Pre % @ W oloR e ¥ w oo ¥ 7
(1) &l (2) =

@) e TRl (4) s

78  Carpenter's tool used for making and boring small holes are :
(1)  Gimlet (2) - Spall hammer
(3) lJack plane (4) Pincer

Pl B ¥ B BT T T A W & Rig Ree o @ e A
o @ %7

(1) frfe (2) wWw s

(3) d T (4) s

79  As per Indian Standards in inclined lettering the letters may be inclined to the

horizontal 15 :
(1 600 (2) 75°
(3) 450 | (4) 85°

s T 3 rgEre R o W vt & R o @ AR e ¥ R
Rt % B W Rrwn R W ¥ 7

(1) 600 @ 75°

(3) 459 (4) 850
Al 26 [ Contd...



80

81

82

Al

In a scale if 2cm = tdm, its R.F, 15 ¢

(R.F. = Representative Fraction)

L . _
- (2)

, _
() 39 : - (4)

100

Tty ¥ 2 Wh - 1 3 A b, T Proww B %

3) 2:7 4)

The ratio of width and height in ‘Gothic letters is :

Gy 7:7 2)

4:7
7:2

e e A T S B R B Y

(_l) 77 (2)
(3) 2:7 _ (4)

Length of object in drawing

Original length of object °°

(1)  Ordinary Fraction 2)
(3) Representative Fraction B 4
g ¥ g oA |

B A ISIE ER G

(1) =uer f= ' (2)
(3) Trefm = : (4)

27

417
7:2 _

Representative Factor

Enlarged Scale

yfaftia amosr
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The percent moisture content of timber is determined by following formula, pick

the cosrect answer :
Where P = Percentage of moisture,
w, = Original weight of timber,

W, = Oven dry weight of timber

} 1_ 2 )-——'ﬁ

(y = &% 100 ) / =W, x100
W - s W2

(3) P= v, x 100 (4) i ———I %100

N S e B L
gzt P = yfqea e,

W, = amd & Aates W (fE ),

W, = 98 ¥ gal 33 @9 @ W

W, — W,y W
1 P=—=2%I100 7y P =—xI100

(1) _ (2) W,

W, —W W
p=—1—""2x100 P ==2x100

3) W, “) W,

Which scale is used to measure up to three units 7
(1) Diagonal scale (2) Plain scale

(3) Comparative scale (4) Scale of chords

ﬁﬁmwm%%&ﬁﬁwwﬁﬁfa@%?

(1) ool wOil (2)  WERe A
(3) gEHE HIAH] (4) Sigr weEl
28
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fsometric j:-rojcction of circles are shown as :

(1) Circle {2) Ellpse
(3) Parabola (4y  Hyperbola
A zvm waw ¥ g9 Far femar &7

(1) =4 (2) drdgn
(3) UrEEg (4) ROEwa

As per Indian Road Congress (IRC) — 73 — 1980 recommended over all width
standards for building line and control line is open area of plain and roliing

terrain lor National and Statc Highwavs :
(1) 80 M and 150 M (2) SO0 M and 100 M

(3 25 M and 353 M (4 30 M and 60 M

IRGH T% wUE (IRC) - 73 — 1980 % &ia ga &owd § goad U Ak
Woum & wa @ o et Yl &od @) gw dien el Paifa
T 7 (Udm ud tew g=m oA % owed W)

(1} 80 WX ug 150 #@er (2} 30 BRX ud 100 WX

(3) 28 \er wg 35 Ay (4) 30 Ofex wd 60 [y

It the area of plot is less than 200 sq. meter then. maximum permissible covered

area approximatelv are
(1)  350% of the plot area (2) 066.67% of the plot area
(3) 40% of the plot area (43 100% of the plot area

T TEl sEve @ AHd 200 i fed § B w o) afueman i airesia
hE T fRAAT BT

(1) Ywve $%d & 50% (2) @S AABA F 66.67%
(3) @S &EHH F 40% (1) e FFEA F 100%
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The unit for measuring the frequency of sound is :

(1) Dobosun Unit (DU) (2)
(3) Hertz (Hz) (4)
ity @ amgla @ WuE e ¥ o

(1) ewE ghe (DU) @)

(3) & (Hz) 4

Minimum area of bathroom should be :
(1) 1.0 sq. m. (2)
(3) 3.0 sq. m. @)
T w A &Fhd Bl ¥

(1) 1.0 & . (2)

(3) 3.0 = AL 4

Volume of oxygen required
is :

Volume of sample used

(1) BOD | (2)

(3) DO (4)

HTIITH N T HT AR

SagrT § fe T3 ATUN BT AT T ¥

(1) BOD @)

G) DO @)
30

Decibel (dB)

Ampere (Amp)

TdiEw (dB)

Q’ﬂﬂ'fﬂ' (Amp)

1.8 sq. m.

3.8 sq. m.

1.8 =i AL

3.8 i AN

COD

All of the above

COD

Iqed wHY
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The polluting gas which is primarily responsible for causing the "Green house

effect” and "Global warming” is ?
(1) Carbon dioxide (2) Sulphur dioxide
(3) Hydrogen sulphide (4) Oxygen

A o9 g9 Td qravesm 9o ¥ fie gem ev @ Reder s wehe
L

(1) @EA 6 -ATEs - (2) uERY SE-oleErREs

(3) TEICH HTRES (4)  &ifedierT

What is pH value of pure water ?

(t) 5 | @ 7
(3) 7.5 (4) 14
%WEETPIJ‘IWE)IHT%Z

(y 5 (2) 7

(3) 7.5 4 14

According to WHO, what is appropriate level of sound in day time ?
(1) 10dB (2) 20-30 dB

(3) 35 dB {4 45 dB

fasa wmren @7 F agER 9 F www @t @ SR @ wn ¥ 7
(1) 10dB (2) 20-30 dB

(3) 35 dB (4) 45 dB
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94 Calculate the length of plain scale to measure 8 km Jength if Representative Factor.

i

(RF) 1s m :
(1) 5.0 cm (2) 4.0 cm
(3) 16.0 cm 4y 8.0 cm

-SMWW%WWWWWﬁWWWﬁWcﬁ%f
l

50,000 &
(1 50 cm (2) 4.0 cm
(3y 16,0 cm (4) 8.0 cm

95 The main discharge from a thermal power plant is :

(1) Smog (2) Dust particles
(3) Fly ash © (4) Smoke

yiie Y Wiz @ g WU Bl ¥

(1y @ (2) BE URH
(3) W g (4) gl

96 In Bethal's method of preservation of timber preservation is done by !

(1) Coaltar {2) Chemical salt

(3) Ol paints (4) Creosote oil

& F wa @ duw fafy ¥ dveer fees gmv R w7
(1) WX g ' (2) TEEME GEE W

(3) SME Y= | (4) TrdEe 9@ ¥

97  Effluent Treatment Plant (E.T.P.) is used in industries to prevent :
(1) Air pollution (2) Water pollution
(3) Noise pollution (4) Soil pollution

Thgde dete Wi (€M) v @mEn WmE R o
(h g g e & g () v wgEr Jed F fo
(3) @tr wguur e & ferg (4) I gET A & Q
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Acid rain is any rain with pH :

(1) Below 5-6 (2) Above 5-6
(3) Equal to 3-6 4y 7.0

settg quf @ 9w Bl wed & R pH ERT ¥ ¢

(1) 5-6 ¥ &4 (2) 5-6 § ol
(3) 5-6 % ={EL ' 4) 7.0

Which gas depletes ozone layer ?

(1) Oxygen (2)  Ammonia

(3) CFC (4) Sulphur dioxide
sl wig @ offy few g 2 g ¢

(1) oTeETeT (2) STl

(3) T w0 HEe (4) UWEHT SEIATFES

The application of varnish on the wood work is carried out in the following

way @
(a) Preparation of surface (b) Stopping
(¢) Knotting - (d) Coats of varnish

What is the correct sequence of application of varnish process ?

(1) (&), (b), (). (d) (2) (). (c). (b), (d)
(3)  {a). (b), (d), (c) 4y (b), (a), (c). (d)
el wE A w0 & fag e afed el W &
(2) €Was @ TR & (b) It
(c) ifem (dy =g ww ®m
qftyT T W W HH e & 7 |
(1) (a), (b), (c), (d) _ (2) (a), {c). (b}, (d)
(3) (a) (b}, (d). () 4)  (0), (@), () (d)
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{01 Which out of the following is not a type of hammer ?

(1) Cross peen (2) Double face
(3) Claw (4) Double cut
Rrer & & @ welieT TRl ¥ 7

(1) @@ o (2) = HE
(3) @ (4) =TI HL

102 SWG stands for ¢

(1) Standard Wire Gauge (2) Standard Width Gauge
(3) Standard Wide Gap (4) Standard Wire Gun
W wE] W w1 AHE ¥

(1) wwed arE I (2) wvsd frgy W

(3) ®veg aiE v (@) wveE GRY E

103 Which of the following materials is not used to make tools to cut iron 7
(1) High carbon steel (2) Mild steel .
(3) High speed steel (4) Cemented carbide
P & @ Prg Ted @1, R @ BRY &g onaydd oW @AM & fag Swar
¥ @ Wy S g 7
(1) & HET TEE (2) 93 9™
(3) w= T @@ (4) WHes wEiEE

104 Tn 18-4-1 High speed steel the percentage of tungusten is :
(1) 18% 2) 4%
(3) 1% 4 23%
ls-aplaﬁnﬁrszqﬁﬁéﬂmmqﬁwm%:
(1) 18% (2) 4%
3 ™% | 4y 23%
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Arrange the following drilling machines in the increasing order of’ their power

consumption

'Bench', "Radial’, 'Portable'
(1) Bench, Radial, Portable (2) Bench, Portable, Radial
(3) Portable, Bench, Radial (4) Portable, Radial, Bench

| Rrefifag JuF aee o 9T SR SYRRT % Wed 3¢ wH N saRad Hifvg :

106

107

Al

‘gfﬂ', (ﬁwr’ ‘ﬂ{ﬁﬁ’
(1) <1, B, didEd (2) <9, 9w, g
(3) udsw, ¥4, Brow @) udsw, B, 99

Process which is different from others :

(1) Galvanising ' (2) Normalising
(3) Nitriding (4) Cyaniding
TN W o Y S ¥

(1) ferEeT (2) T
(3) gt (4) WEAGRT

T - T - T curve stands for :

(1) Time — Temperature ~ Transformation curve

(2) Time — Temperature — Toughness curve

(3) Temperature — Transformation — Treatment curve

(4) ‘Thermal — Time — Transformation curve
A - A - A 9w ow o ¥

(1) HEF - TEy - FEHEE T

(2) eEH — TYEX - THIY qh

() T - EEEIE - e -

() i - TEW - LEEHIT TH
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108 Which out of the following 1s not a pipe litting 7/
(1) Elbow {2) Pipe wrench
(3y Socket {4)  Union
Pl & & @@ e mEw fERM o ¥ 7
(1) s (2) wEy =

(3) HiHe (4y gha

109 Which out of the following ts not used in the clectric arc welding ?

(1) A, C. Transformer (2) Electrode Holder
(3) Welding Torch {4) Shicid

e ¥ & faw v Rra o dfen § w@ R o 7
(1) vaEd e (2) FOHE EREt

(3) FiEw = (4) Ahe®

110 Which out of the following 1s a part of sclf starting system of an austomobiie ?
(1) Bendix Drive {2y  Clateh

{3) Distributor (4) Contact Breaker

Prefeftag o ew sldMiaRw o dW6 WiET Uondl W % SeEd § 7

(1y dfeeq aw= (2) o=
() TeEERy (4) g fatem

111 Clgpition coil' of an automebile works similar to

(1} Step up transtormer {2y Step down transformer
(3y D. C. generator {4) A. C. generator

SEHEEE B UIHHEH posal 7 H @ fhae wue @& Bl ¢ o
(1) <=y qienfhs (2) orary uientis
(3) e grr sl (4) weaTEE] HT W
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112 A tool which is used to mark two paraliel lines at a time on wood :

(1) Mortise Gauge (2) Marking Gauge
(3) Cutting Gauge - (4) Marking Knife

ue oiwr fEe Swdn weEl W Um @d @ wwe et @ e s
¥ fpom W %, AT ¥

(1) @@ yEd (2) oA wHdy
(3) @I wEE (4) ~=% g

113 Petroil system is a type of :
(1) Ignition system (2) Cocling systemn

(3) Governing system (4) Lubrication system

R o ush WEK B %

(1) wogeT o (2) St o
(3) oyt 95 (4) T ¥

114 The size of simple bench vice is specified by : _

| (1) Height of Jaws (2) Thickness of Jaws
(3) Opening of Jaws (4) Width of Jaws
waReT Fu a2y BT R BT TUNEYE B §
(1) vl W SR ¥ (@) wEgi W oW W
(3) weet & gaE ¥ (4) gl @ diew 9

{15 Which metal is highest in percentage in Babbit metal ?

(1) Tin (2) Antimony
(3) Copper (4)  Aluminium
Pz ug F Bea ug @ ufae waifus e ¥ 7
(1 fe (2) TR
(3) ami CHRE HINRL
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In lathe, power transmitted from lead: screw to carriage through :

(1) Gear train . - (2) Pulley drive |

(3) Half nut - , .. (@) Chan drive

e w ¥ BRw de g o Bees & wra g ¥ 7

(1) PR wwn @ Rt aeE

(3) W& T ) @ <=9 g

Name the device which maintains the mean speed of engine according to change
of load on engine ? '

(1) Governor B (2) Flywheel -

(3) Carburettor ' S (4) Fuel pump

@ W H M FART St g WX WK UREdN & SgER S &l e T
W e e

(1) sfubEs (2) kg afwn

3) weftet @ B

Thermo Syphon system is related with B

(1) Cooling system of éfigine. (2) Lubrication system -:'6!1": "eng:iﬁe
(3) Heat treatment process (4) Battery used in vehicles
ST e e B we B ¥ Y Rl ¥

(1) o @ e wr d (2) g9 @ EeT W §

(3) T SUAN WHH 9§ ' (4) T ¥ uged S A

A dynamo used in vehicle is a -

(1) D. C. generator . : (2) A. C. generator

(3) Voltage Regulato.r = - (4) Current Reguiator.

et ¥ wgEE SEe ¥

() < gy sitm - : (2) wITEdT YIRT
(3) s TEEH L (4) s FrEm
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120 Specific gravity of electrolyte solution of battery is measured by : -

121

122

123

Al

(1) Hydrometer ' (2) Hygrometer

(3) Electrometer (4) Lactometer

=8 ¥ foga omuer di@ @ o e W W ¥

(1) BEEMRY (2) BEAMREI
(3) TEERNRT (4) wWTIHRY

In sheet metal work snip is a :

(1) Measuring tool (2) Marking tool
(3) Holding tool (4) Cutting tool
arg ueT Bl ¥ BT o ¥

(1) @ SR - (2) Taea o
@) whs Sl o @) W el

Galena is the ore of

(1) Zinc ' @)  Silver
(3) Lead 4) Tin
o B o Rewar smes § 7

(1) - R - @) foe
(3) we : (4y feo

Surface plate is made of which maternial 7

(1) Mild steel (2) Cast iron
(3)  Aluminium ' (4) Copper
waE W PR A Y Rew wwd @ o g AN ¥ 7
(1) T T @) v W
(3) g @ e

39
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124 The usual point angle for a standard twist drill is :

126

127

Al

(1y 29 @) 60°
(3) 118° 4) 12°

e T Tew B g BT gWeA: o ¥

(1 29° (2) o0°

3y 118° 4y 12°

The steel in which carbon percentage is less than 0.8% is known as ?

(1) Hypo-eutectoid steel

(3} Eutectoid steel . - (4) Ultrasteel

U T R sET @ wlaye 0.8 § ®H ®, wedl s 7
(2) FRUT-YLHRFE TG
(3) HIaigs W (4) orgEEE

(1) TRU-GEHREE TEE

The desired characteristics of lubricating oil 1s :
(1) Resistance against corrosion (2) Physical stability

(3) Chemical stability (4) Viscosity

e O @ SIEydE wad ¥ o

(1) w1 & frog wiady - 2) Hife Ruwan
(3) et Ratar 4y @

The material of radiator core is :

(1) Steel (2) Cast iron
(3) Brass . (4) Plastic

Mo &) &1 = ¥

(1) sEnd _ (2) Tl W
(3) dEw . (4) AMH

40

(2) Hyper—eutectoid steel

| Contd...

Y A~ v A~y A~ T



128

129

130

131

Al

In carpentry mallet is made from :

(t) TIron (2) Steel

(3) Aluminium (4) Wood
HREZ A Aae few el w1 s dan ¥7

M @\ @ vaw

(3) wefihrm (4) !

Hand brakes are normally applied on :

(1) Rear wheels (2) Front wheels
(3) Right wheels (4) Left wheels
¥ % wra: BRE W oW ¥ 7

(1) Rred ofeat o (2) o ufedt W
(3) @t ufemi W (4) = ufedt 9

Which material is there on positive plate of lead-acid battery ?

(1) PbO, (2) Pb
(3) PbsO, (4) H,S0,
TG 9TH B GO e U BT &7
(1} PbO, (2) Pb
(3) PbSO, (4) H,80,

CD-ROM stands for :
(1) Compactable Read Only Memory
(2) Compact Data Read Only Memory
(3) Compactable Disk Read Only Memory
(4) Compact Disk Read Only Memory
CD-ROM & @rqd ¥ :
(1) sRTw U o TR
(2) @ TRr O o #9rd
(3) wHERTw fow s ofwe ¥
@) FHw m e o= f=d

41
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132 Which CPU component was used in second generation computers ? -,

133

134

135

A]

(1) Vacuum Tubes (2) Transistor

(3) LSI chips (4) VLSI chips

i O ¥ wvged ¥ fh@ CPU ofawa & swdrm fear wno?
(1) Frafa i @ zifwed

(3) LSI = (4) VLSI faw

What is operating system ?

(1) System software (2)
(3) Word - processing software &)
st fen & % 7

(1) FaEd deees (2)
(3) TS-URARE Hieda )

MICR stands for :

(1) Magnetic Ink Character Recognition
(2) Magnetic Ink Code Reader

(3) Magnetic Ink Case Reader

(4) None of above

., omg. W o ¥ e ¥
() WAfm <@ Heaex dwrhgE
(2) wfed I @ =X

() AWR® @ ww O

4y FT ¥ W A

Application software

Communication software

YA WZEE

FRFTHIN (FERT) HHREEt

One kilobyte equals to how many bytes :

(1) 1000 byte 2

(3) 100 byte (4)

ue fEel e § fhad dge @9 ¥ °

() 1000 wE 2)

(3) 100 9E (4)
42

1024 byte
1008 byte

1024 €15
1008 91k<
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136 Which is the example of word processing, spread sheet and photo - editing ?

(I} Application software (2) System software
(3) Operating system software (4) Platform software
T YRR, Wele du wi-uRRT @ sewew wwm b7
(1) omyar dveeny | (2) Town direa

(3) smfEn frew dwenr (4) wemH HiFeaEx

137 Which of the following memory needs refresh ?

(I) SRAM (2) DRAM
(3) ROM (4) Magnetic Disk

Pt & & Rew 39r0 @ Ribwr (@mm) 2 @ eravaear By &7
(1) SRAM (2) DRAM
(3) ROM @ ge@E R

138 RAM stands for :

(1) Rapid Access Memory (2) Rotational Access 'Mefnory
(3) Random Access Memory (4) All of the above

RAM ¥ awwf ¥ :

() e wdg 398 (2) WEIEH THRE TER

() Tweu TRy FEd (4) Il gl

139 What is the name of way that computer manipulates data into information ?

(1) Programming (2) Processing
(3) Storing (4) Organizing
w'aﬁﬁﬁmﬂmw%ﬁwﬁmwaﬁwﬁw% ?
(1) wrnf @) W

¢) wERW () =rfRem wem
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140 The computer that processes both analog and digital is called :

(1) Analog computer (2) Digital computer

(3) Hybrid computer (4) Mainframe computer
%Wﬁwﬁﬁﬂwﬁﬁzﬁmsﬁr@mm%,mﬁ%:
(1) TR BRI (@) R R

(3) TEES BRI (4) FTHR @RI

141 What is an 8-bit unit used 0 code a character ?

(1y Word - (2) Data set

(3) Byte 4) Kilo
mmﬁaﬁgtﬁﬁﬁmaﬁﬁ&bitézﬁéwﬁ%?
1y =& : @ == &

(3) e (@) feper

142 Which access method is used for -obtaining a record from a magnetic tape ?
(1) Direct (2) Random
(3) Sequential (4) None of ihese
gt 20 4 ww P W w ¥ R ae-d o Rl sl 3
ad ¥ ?
(1) BRI 2 Y9
() whew @ T ¥ wE

143 Digital signature is used for :
(1) Tt ensures that electronic document is authentic
(2) Tt is used for sending e-mail
(3) 1t is used for communication over internet

(4) It is used for access e-mails

fefew s HM A feen S ¥
(1)%@%%%%3@&@%3@%%&%
2) u® O Fed F B Sl ¥ |
() T% Tee W AW § R0 HM B §
(4) =% ™A B U W F FA S T
Al : 44 | Contd...



144

145

146

Al

Microsoft office is afan :

(1) Apphcation software (2) System software
(3) Design sofiware (4) Programming" Language
TEETE e ¥ o

(1) T% TF UoeRRH SRS ¥ (2) 9% Us Roew gvedst 3
(3) T® Uw feEE UEEaEY # (4) U% TEH WG wmT ®

What is the punishment for publishing or transmitting obscene -material in
electronic form in IT Act 2000 ?

(1) Imprisonment up to 3 years and fine up to 5 lakhs rupees

(2) Imprisonment up to 5 years and fine up to 10 lakhs rupees

(3) Imprisonment up to 6 months and fine up to 1 lakh rupees

(4) Imprisonment up to 7 years and fine up to 7 lakhs rupees

IT TR 2000 ¥ a1sele 9T & swagiie &9 3§ waim g §wroy % g 2vs
B OFT WY & 7

(1) 3 99 % 9« qo0 5 W 99 d@b & rduve
(2) 5 | 9% S| qu1 10 WRE IS qe @ SRS
(3) 6 HWEM d® od aul | W@ U 9% @& sraue

(4) 7 U9 wH oW 991 7 W@ oY e @l srdavs

Which type of system puts the user into direct conversation with the computer
through a keyboard ?

(1) Read time processing (2) Interactive computer

(3) Batch processing computer (4) Time sharing

fow T @1 e swimeal @ ol wew ¥ IR Fged 4 99 9@y
(GI® T@) wxaE & 7

() arafys g9 Wl (2) IeUwRT HGEX
3) 9 "R weEx (4) W oIEE
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147 Which of the following is an impact printer ?

(1) Laser Printer (2) Inkjet Printer
(3) Thermal Printer (4) Drum Printer
frr & ¥ @iwar 3R B ®7 |
() wwg fiex ) Tee R
@) @ frx (4) T X

. 148 In which memory, the contents get erased when power failure occurs ?

(1) RAM (2) EPROM

(3) ROM (4) PROM

Spg Al F el Wl W WX 99w 3% W 87
(1) RAM (2) EPROM

(3) ROM (4) PROM

149 ALU means :
(1) Application and Logic Unit (2) All Level Users
(3) Arithmetic and Logic Unit (4) None of above

ALU &1 94 ¥ ¢ _
(1) TiH™ Qs dfes gfHe () e waw gud
¢) thenfw ws [N ghe (4) T ¥ B TE

156 ASCIl stands for :
(1} American Stable Code for Taformation Interchange
(2) American Standard Case for Institutional Interchange
(3) American Standard Code for Information Interchange

(4) American Standard Code for Infra Interchange
pogdrag.ems. § I ®
(1) omiferm R s BT FTRTEA Feaa
2) oERET B HW B RN e
3) aifET Red ®E B TR et
(4) oM@t B ®BE B T TN
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